Office of the Executive Engineer (JSD)P.H.E Division Awantipora

E-Mail ID: phedivisionawantipora@gmail.com

M/S Wani Constructions

Prop. Bashir Ahmad Wani

S/O: Ali Mohammad Wani

R/O: Ladhoo Pampore

Reg. No.: CE/PHE/I&FC/2020-21/A-59

GST No.01AADFW6738L1ZX PAN No.: AADFW6738L

No.PHA/ 6084-6087
Dated: 31-12-2027

Subject: - Allotment for Const. of Breast Wall/Retaining Wall, Chainlink Fencing, Transformer Bed/DG Set Bed, Sluice Chamber, Surface Drain/Approach Path and Earth Filling, Renovation of Operator Quarter including Raising of Bed of PST, Balance Work of Chain Link Fencing around existing OHT Premises, Surface Drain and Approach Path RCC Slab to CWS including filling Near Pressure Filter site, electrification to pump house and laying fitting WSS

Banderpora New under JJM. Refrence:- 1.Your tender in response to this office E-NIT No. 37/PHA of 2022-23 (e- tendering) issued under endorsement No.PHA/Awp/3259-69 dated:- 2508.2022,Tender ID :2022_PHE_185677__1

2.Tech. Sanction No. CE/PHE/DB/505 of 9/2022 dated:- 09.09.2022

- 3. Minutes of Meeting DJJM Pulwama held on 27/12/2022 endorsed vide No. SE/HYD/Spn/6402-10 dated:- 28/12/2022.
- 5. Administrative Approval No. CE/PHE/DB/224 of 06/2021 dated:- 12.06.2022

For on behalf of lieutenant Governor of Union Territory of Jammu & Kashmir, contract for above mentioned work is hereby fixed with you at the following quoted rates, terms conditions .

Advertised Cost:-Rs 72.86 lacs

Alloted Cost:- Rs 66.387 lacs

(Rupees sixty six lacs thirty eight thousand and seven hundred)only

Particulars of items		- 11	Alloted		
Particulars	Unit	Qty	Rate	in figures	in Words
Earth work in excavation by manual means in renches for foundations, drains, pipes, cables etc, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed.	Cum	120.00	397.24	47668.752	Rupees FourtySeven Thousand Six Hundred SixtyEight Paise SeventyFive Only
Providing & Laying of stone soling (dully hand packed)including watering dressing and ramming with all carriages loading un-loading	Cum	39.00	561.60	21902.47956	Rupees Twenty One Thousand Nine Hundred Two Paise Fourty Eight Only
Providing & laying in position cement concrete of specified grade excld. The cost of centring	Cum	15.00	4429.67	66444.3363	Rupees SixtySix Thousand Fou 6 Hundred FourtyFour Paise ThirtyFour Only
	renches for foundations, drains, pipes, cables etc, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed. All kinds of soil. Providing & Laying of stone soling (dully hand packed) including watering dressing and ramming with all carriages loading un-loading and stacking etc complete Providing & laying in position cement concrete of specified grade excld. The cost of centring	renches for foundations, drains, pipes, causes etc, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed. All kinds of soil. Providing & Laying of stone soling (dully hand packed)including watering dressing and ramming with all carriages loading un-loading and stacking etc complete Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8) coarse sand 40mm nominal size crushed stone	renches for foundations, drains, pipes, causes etc, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed. All kinds of soil. Providing & Laying of stone soling (dully hand packed) including watering dressing and ramming with all carriages loading un-loading and stacking etc complete Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8) coarse sand 40mm nominal size crushed stone	renches for foundations, drains, pipes , causes etc, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed. All kinds of soil. Providing & Laying of stone soling (dully hand packed) including watering dressing and ramming with all carriages loading un-loading and stacking etc complete Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8) coarse sand 40mm nominal size crushed stone 397.24 Cum 39.00 561.60	renches for foundations, drains, pipes, causes etc, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed. All kinds of soil. Providing & Laying of stone soling (dully hand packed) including watering dressing and ramming with all carriages loading un-loading and stacking etc complete Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8) coarse sand 40mm nominal size crushed stone 120.00 397.24 47668.752 Cum 39.00 561.60 21902.47956

Of Revised & accepted

cencrete (1:3:6) r shuttering, finish	ecified grade of cement nix excld. the cost of centring, ing and reinforecement-All level. With stone agg. 20mm	Cum	96.00	4919.05	472228.5237	Rupees Four Lakh Severes Thousand Two Hundred TwentyEight Paise FiftyTwo Only
etc & removal o	of columns for mass concrete	Sqm	414.00	522.83	216453.5803	Rupees Two Lakh Sixteen Thousand Four Hundred FiftyThree Paise FiftyEight Only
Nominal reinfor item no. 4A	cement @ 0.10 qty/cum vide	kgs	960.00	79.43	76252.51008	Rupees SeventySix Thousand Two Hundred FiftyTwo Paise FiftyOne Only
12-mm thick ce	ment plater 1:4 mix	Sqm	474.00	236.93	112305.5571	Rupees One Lakh Twelve Thousand Three Hundred Five Paise FiftySix Only
Carriage of ma source to site of avg lead of 20	terails By Mech.Transport, from of work'Stone agg/Sand. for an km	Cum	188.36	366.53	69038.91628	Rupees SixtyNine Thousand ThirtyEight Paise NinetyTwo Only
	for an avg lead of 20 km	МТ	29.20	325.85	9514.697477	Rupees Nine Thousand Five Hundred Fourteen Paise Seventy Only
	or an avg. lead of 10 km	Cum	15.00	301.10	4516.50492	Rupees Four Thousand Five Hundred Sixteen Paise Fifty Only
etc, disposal	excavation by manual means in joundations, drains, pipes, cables of excavated earth upto 1 m, th to be levelled & neatly dressed bil.		12.36	397.24	4909.881456	Rupees Four Thousand Nine Hundred Nine Paise EightyEight Only
packed)inclu ramming wit	Laying of stone soling (dully hand ding watering dressing and the side of the same of the		m 4.06	561.60	2280.104282	Rupees Two Thousand Two Hundred Eighty Paise Ten Only
of specified and shutter	laying in position cement concret grade excld. The cost of centring ng all work upto plinth level(1:4:8 20mm nominal size crushed sto	3)	m 3.04	4429.62	13466.05217	Rupees Thirteen Thousand Four Hundred SixtySix Paise Five Only
of specified and shutter	laying in position cement concre grade excld. The cost of centring ing all work upto plinth level(1:3: d 20mm nominal size crushed sto	6)	ım 38.9 5	6 4919.09	5 191596.885	Rupees One Lakh NinetyOne Thousand Five Hundred NinetySix Paise EightyNine Only
cement cer centring, sl reinforecer	tion specified grade of reinforced ncrete (1:2:4) mix excld. the cost of nuttering, finishing and ment-All work upto plinth level. V 20mm nominal size	of	um 1.71	8973.7	4 15345.1001	Rupees Fifteen Thousand Three 6 Hundred FourtyFive Paise Ten Only
etc & remo	nd shuttering incld. Strutting, pro oval of form work for Founadtion ases of columns for mass concre	s,	qm 191.	40 238.9	8 45741.064	Rupees FourtyFive Thousand Seven Hundred FourtyOne Pais Six Only
	nd shuttering incld. Strutting, pro oval of form work for Columns.		5qm 12.2	24 619.6	7584.940	Rupees Seven Thousand Five Hundred EightyFour Paise NinetyFour Only

									THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAMED IN COLUMN TW
Į,	Reinforcement for RCC work incld straightning, cutting, bending, placing in position & binding all common processing treated bars)	Kg	155	3,90	79,43	1224		Live	else Thousand Two TwentyFour Paise ntyThree Only
	cutting, bending, placing in position complete (Thermo-mechanically treated bars) Structural Steel work in single section fixed with connecting plate including cutting, hoisting, fixing in position and applying a priming coat of	Ke	159	91.01	93,06	14805	у 9902	Thousa	ne Lakh PourtyFight nd FiftyMms (3nb)
19	fixing in position and approved approved stee steel primer complete approved and fixing of Chain link fencing of Providing and fixing of Chain link fencing outs.	5M	1.	67.17	668.29	1117	18 1486	1 Whitest	s (ms Lakh Fisyen and Seven Hundred 190ss (Hirry) (vs Cm)y
20	standard mesh and thickness included bolts, steel primer of approved brand ect complete P/L 12-mm thick cement plaster in 1:4	SM	2	208.97	236,93	495	11 58705	Five I	LourtyNine Thousand fundred Eleven Pulse LiftyNine Only
21	20 milding and laying of 1:2:4 mix coping with 20-	Cun		2,34	6358.28	148	78.36431	10ght 16	st Fourteen Thousand Hundred Seventyl ight dise ThirtyStx Only
22	mm nominal size age to the steel gate including and fixing of steel gate including	kg		350.00	93,06	32	570.9139	Pive	es Thirty I wo Thousand Hundred Seventy Palse MinetyOne Only
23	carriage complete	Squ		468.00	111.11	51	1998.8458		iggs FiftyOne Thousand e Hundred NinetyEight raise EightyFive Only
24	approvedbrand and manager color to give an even shade two or more coat isluding priming coat		ım	62.11	366.5	3 2	2764 955	88 Seve	ges TwentyTwo Thousand n Hundred SixtyFour Paise NinetySix Only
25	source to site of work		ит	13.95	325.8	35	4545.5489)66	npees Four Thousand Five hundred FourtyFive Paise FiftyFive Only upees One Thousand Two
26	1		um	4.06	301.	10	1222.467		unded TwentyTwo Paise FourtySeven Only
27	Earth work in excavation by manual means of areas exceeding 30 cms & upto 5 m in depth 1,5m in width as well as 10 sqm. On plan,	1 (Cum	13.41	491	.40	6589.69		Rupees Six Thousand Five Hundred EightyNine Paise Seventy Only
21	disposal of excavated earth y dressed earth to be levelled & neatly dressed Providing & Laying of stone soling (dully har packed)including watering dressing and ramming with all carriages loading un-loading the second earth y described in the second earth y described earth to be levelled & neatly dressed earth y described earth to be levelled & neatly dressed earth y described earth to be levelled & neatly dressed earth y described earth to be levelled & neatly dressed earth y dressed ear	nd	Cum	8.37	56	1.60	4700.6	09075	Rupees Four Thousand Seve Hundred Paise SixtyOne On
	Providing & laying in position cement concre of specified grade excid. The cost of centrin	ete g 1:8)	Cum	2.7	7 44	29.62	12270) ()5411	Rupees Twelve Thousand 1 Hundred Seventy Paise Fi Only
	and shuttering all work upto plints so coarse sand 40mm nominal size crushed stage.) P/L in position specified grade of cement cencrete (1:3:6) mix excld, the cost of cent shuttering, finishing and reinforecement-A work upto plinth level. With stone agg. 20in nominal size	ring,	Cum	9.8	30 4	919.05	482	06.6618	Rupees FourtyLight Thou Two Hundred Six Pair SixtySix Only

* XenCy

					Carlot appropriate to the second	4
- 1	P/L in position specified grade of cement cencrete (1:2:4) mix excld. the cost of centring,	Cum	5,86	6358.28	37259.493 ⁵⁴	Rupess ThirtySeven Thous I wo Hundred FiltySine Pr FourtyFilms Only
32	cencrete (1:2:4) mix excid. the Cooking is shuttering, finishing and reinforecement-All work upto plinth level. With stone agg. 20mm nominal size				galance process and an analysis of the second	Rupees Seven Thousand C Hundred MinetyOne Pare Seventien Only
	Centring and shuttering incld. Strutting, proping etc. & removal of form work for Founadtions,	Sqm	33.02	238.98	7891 170121	Sevenieri
33	footings, bases of columns for missing footings, bases of columns for missing for the footings,	Kg	203.00	79.43	16124.22869	Twenty Three Only
34	cutting, bending, placing in position to complete (Thermo-mechanically treated bars)	VR		236.93	7823.479946	Rupees Seven Thousand Er Thindred TwentyThree Par FourtyEight Only
35	12-mm thick cement plater 1:4 mix	Sqm	33.02	236.93		Rupees NinetyFive Thousa
36	Structural steel work in welded built up section	Kg	1023.80	93.06	95274.57615	Paise FiftyFight Comp
37	F/F of 0.63mm CGI roofing	Sqm	14.82	867.18	12851.6814	Hundred FiftyOne Faire SixtyEight Only
38	Providing and fixing of ridges	RM	3.25	629,89	2047.139201	FourtySeven Paise Fourteer Only
39	Providing and fixing of 25x25 mm ornamental wire mesh welded built up section	Кg	67.80	133.80	9071,303373	Rupees Nine Thousand SeventyOne Paise Thirty Onl
40	Carriage of materalls By Mech.Transport, from source to site of work 'Stone agg. for an avg lead of 20 km	Cum	25.59	366.53	9379.411062	Rupees Nine Thousand Three Hundred SeventyNine Paise FourtyOne Only
41	Cement/steel for an avg lead of 20 km	MT	5,93	325.85	1932,265618	Rupees One Thousand Nine Hundred ThirtyTwo Paise TwentySeven Only
42	Stone soling for an avg. lead of 10 km	Cum	8.38	301.10	2523.220749	Rupees Two Thousand Five Hundred TwentyThree Paise TwentyTwo Only
43	Earth work in excavation by manual means over areas exceeding 30 cms & upto 5 m in depth 1.5m in width as well as 10 sqm. On plan, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed	Cum	18.00	491.40	8845 23213	Rupees Light Thousand Eight Hundred FourtyFive Parse TwentyThree Only
44	Providing & Laying of stone soling (dully hand packed)including watering dressing and ramming with all carriages loading un-loading and stacking etc complete	Cum	1.35	561.60	758.162754	Rupees Seven Hundred FiftyEight Paise Sixteen Only
45	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8) coarse sand 40mm nominal size crushed stone agg.)	Cum	1.35	4429.62	5979.990272	Rupees Five Thousand Nine Hundred SeventyNine Paise NinetyNine Only



46	P/L in position specified grade of reinforced cement cencrete (1:2:4) mix excld. the cost of centring, shuttering, finishing and reinforecement-All work upto plinth level. With stone agg. 20mm nominal size Raft	Cum	1.35	6358.28	8583.67172	Rupees Eight Thousand Five Hundred EightyThree Paise SixtySeven Only
47	Walls	Cum	2.83	8973.74	25395.69208	Rupees TwentyFive Thousand Three Hundred NinetyFive Paise SixtyNine Only
48	Slab	Cum	0.86	8973.74	7717.418795	Rupees Seven Thousand Seven Hundred Seventeen Paise FourtyTwo Only
49	Centring and shuttering incld. Strutting, proping etc & removal of form work for Founadtions, footings, bases of columns for mass concrete	Sqm	1.80	238.98	430.166754	Rupees Four Hundred Thirty Paise Seventeen Only
50	Centring and shuttering incld. Strutting, proping etc & removal of form work for Walls	Sqm	37.80	522.83	19763.15298	Rupees Nineteen Thousand Seven Hundred Sixty Three Paise Fifteen Only
51	Centring and shuttering incld. Strutting, proping etc & removal of form work for Suspended	Sqm	4.41	579.10	2553.809656	Rupees Two Thousand Five Hundred FiftyThree Paise EightyOne Only
52	floors Centring and shuttering incld. Strutting, proping etc & removal of form work for Edges	RM	9.60	220.76	2119.291488	Rupees Two Thousand One Hundred Nineteen Paise TwentyNine Only
53	Reinforcement for RCC work incld straightning, cutting, bending, placing in position & binding all complete (Thermo-mechanically treated bars)	Kg	403.20	79.43	32026.05423	Rupees ThirtyTwo Thousand TwentySix Paise Five Only
54	P/L 12-mm thick cement plaster in 1:4	Sqm	37.80	236.93	8956.012779	Rupees Eight Thousand Nine Hundred FiftySix Paise One Only
55	Providing and fixing of lid with angle iron frame 1 No (3.0"x 3.0") and 1 Nos stair	kg	100.00	93.06	9305,9754	Rupees Nine Thousand Three Hundred Five Paise NinetyEight Only
56	Carriage of materails By Mech.Transport, from source to site of work 'Cement and steel	Cum	2.25	325.85	733.153059	Rupees Seven Hundred ThirtyThree Paise Fifteen Only
57	Sand and aggr	Cum	9.64	366.53	3533.314679	Rupees Three Thousand Five Hundred ThirtyThree Paise ThirtyOne Only
58	Soling	Cum	1.35	301.10	406.4854428	Rupees Four Hundred Six Paise FourtyNine Only
59	Earth work in excavation by manual means over areas exceeding 30 cms & upto 5 m in depth 1.5m in width as well as 10 sqm. On plan, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed	Cum	99.00	397.24	39326.7204	Rupees ThirtyNine Thousand Three Hundred TwentySix Paise SeventyTwo Only
60	Providing & Laying of stone soling (dully hand packed)including watering dressing and ramming with all carriages loading un-loading and stacking etc complete	Cum	99.00	561.60	55598.60196	Rupees FiftyFive Thousand Five Hundred NinetyEight Paise Sixty Only
61	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8) coarse sand 40mm nominal size crushed stone agg.)	Cum	68.77	4429.62	304625.1341	Rupees Three Lakh Four Thousand Six Hundred TwentyFive Paise Thirteen Onf

The production of the

Lan Cy

	La Coment					Rupees Two Lakh Thirty Fu
	P/L in position specified grade of cement cencrete (1:3:6) mix excld. the cost of centring, shuttering, finishing and reinforecement-All work upto plinth level. With stone agg. 20mm nominal size	Cum	47.77	4919.05	234982 881	Rupees Two Lakh ThirtyFo Thousand Nine Hundred EightyTwo Paise EightyFight Only
63	P/L in position specified grade of cement cencrete (1:2:4) mix excld. the cost of centring, shuttering, finishing and reinforecement-All work upto plinth level. With stone agg. 20mm nominal size	Cum	40.00	5890.44	235617.7488	Rupees Two Lakh ThirtyFive Thousand Six Hundred Seventeen Paise SeventyFive Only
64	PI/ of Earth filling including digging. Carriage @ 15 km and spreading incl. watering D/d 20% for	Cum	798.40	321.62	256780.0507	Rupees Two Lakh FiftySix Thousand Seven Hundred Eighty Paise Five Only
65	Shrinkage. Centring and shuttering incld. Strutting, proping etc & removal of form work for Founadtions, footings, bases of columns for mass concrete	Sqm	218.00	238.98	52097 97354	Rupees Fifty Two Thousand NinetySeven Paise NinetySeven Only
66	Carriage of materails By Mech.Transport, from source to site of work 'Sand/Stone agg. for an avg lead of 20 km	Cum	211.32	366.53	77454.36286	Rupees SeventySeven Thousand Four Hundred FiftyFour Paise ThirtySix Only
67	Cement for an avg lead of 20 km	мт	22.20	325.85	7233.776849	Rupees Seven Thousand Two Hundred ThirtyThree Paise SeventyEight Only
68	Stone soling for an avg. lead of 10 km	Cum	99.00	301.10	29808.9324	Rupees TwentyNine Thousand Eight Hundred Eight Paise NinetyThree Only
69	Demolishing of cement concrete including disposal.	Cum	3.09	1429.70	4417.76719	Rupees Four Thousand Four Hundred Seventeen Paise Seventy Seven Only
70	Providing & Laying of stone soling (dully hand packed)including watering dressing and ramming with all carriages loading un-loading and stacking etc complete (PST)	Cum	6.00	561.60	3369.6122	Rupees Three Thousand Three
71	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8) coarse sand 20mm nominal size crushed stone agg.)	Cum	7.50	4429.6	33222 168	Rupees ThirtyThree Thousand Two Hundred TwentyTwo Paise Seventeen Only
72	Providing Cement Concrete Flooring of mix (!:2:4) in operator Quarter	Sqm	15.55	6 460.1	7154.640	Rupees Seven Thousand One Hundred FiftyFour Paise SixtyFour Only
73	P/L in position specified grade of cement cencrete (1:2:4) mix excld. the cost of centring, shuttering, finishing and reinforecement-All work upto plinth level. With stone agg. 20mm nominal size	, Sqm	6.00	5890.4	35342.66	Rupees ThirtyFive Thousand
74	Demolishing of Cement Plaster of Operator Quarter	Sqm	n 96.00	0 32.2	3091.90	Rupees Three Thousand NinetyOne Paise NinetyOne Only
75	12 mm thick cement plaster in 1:4 mix	Sqm	n 96.0	0 236.	.93 22745.4	Rupees Twenty Two Thousand



No Laure	1				114	-	
Nine Hundred		Providing and fixing of pannalled/pannelled or glazed shutters 35-mm thick of 2nd class kail wood including 4-mm thick glass	Sqm	4.60	3394.80	15616.09911	Rupces Fifteen Thousand Six Hundred Sixteen Paise Ten Only
	77	P/F 35mm thick wire gauze shutters of 2nd class kail wood	Sqm	4.60	3327.02	15304.28425	Rupees Fifteen Thousand Three Hundred Four Paise TwentyEight Only
	78	Providing and fixing of 20-mm second class kail wood in ceiling and soffit	Sqm	50.76	1560.58	79214.92075	Rupees SeventyNine Thousand Two Hundred Fourteen Paise NinetyTwo Only
	79	Providing and fixing of Budloo wood in ceiling for frame work	Cum	0.30	54759.66	16427.89832	Rupces Sixteen Thousand Four Hundred TwentySeven Paise Ninety Only
	80	Carriage of materails By Mech.Transport, from source to site of work 'Sand/Stone agg. for an avg lead of 20 km	Cum	17.64	366.53	6465.526031	Rupees Six Thousand Four Hundred SixtyFive Paise FiftyThree Only
	81	Cement for an avg lead of 20 km	MT	3.46	325.85	1127.426482	Rupees One Thousand One Hundred TwentySeven Paise FourtyThree Only
	82	Stone soling for an avg. lead of 10 km	Cum	6.00	301.10	1806.601968	Rupees One Thousand Eight Hundred Six Paise Sixty Only
	83	Earth work in excavation by manual means over areas exceeding 30 cms & upto 5 m in depth 1.5m in width as well as 10 sqm. On plan, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed(all kinds of soils)	Cum	13.32	397.24	5291.231472	Rupees Five Thousand Two Hundred NinetyOne Paise TwentyThree Only
_	84	Providing & Laying of stone soling (dully hand packed)including watering dressing and ramming with all carriages loading un-loading and stacking etc complete	Cum	2.50	561.60	1404.0051	Rupees One Thousand Four Hundred Four Paise One Only
	85	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8) coarse sand 20mm nominal size crushed stone agg.)	Cum	2.50	4429.62	11074.05606	Rupees Eleven Thousand SeventyFour Paise Six Only
	86	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:3:6) coarse sand 20mm nominal size crushed stone agg.)	Cum	13.52	4919.05	66505.51709	Rupees SixtySix Thousand Five Hundred Five Paise FiftyTwo Only
	87	P/L in position specified grade of reinforced cement cencrete (1:2:4) mix excld. the cost of centring, shuttering, finishing and reinforecement-All work upto plinth level. With stone agg. 20mm nominal size	Cum	1.41	8973.74	12652.97733	Rupees Twelve Thousand Six Hundred FiftyTwo Paise NinetyEight Only
	88	Centring and shuttering incld. Strutting, proping etc & removal of form work for Founadtions, footings, bases of columns for mass concrete	Sqm	57.20	238.98	13669.74352	Rupees Thirteen Thousand Si Hundred SixtyNine Paise SeventyFour Only
	89	Centring and shuttering incld. Strutting, proping etc & removal of form work for Columns	Sqm	11.10	619.68	6878.49978	Rupees Six Thousand Eight Hundred SeventyEight Paisc Fifty Only



						Ourses Ten Thouse	
					10079.62868	Rupees Ten Thousand Seventy Nine Paise Sixty Three	
	Reinforcement for RCC work incld straightning, handing all handing placing in position & binding all	Kg	126.90	79,43	10075		
10	cutting bentuma-mechanically freeta				33631 17091	Rupees Thirty Three Thousand Six Hundred ThirtyOne Paise Seventeen Only	
	Steel work in single section	Kg	361.39	93,06	33631 11		
10	connecting plate including cutting. Hood of connecting plate including cutting. The coat of fixing in position and applying a priming coat of approved stee steel primer complete				33387 19253	Rupees ThirtyThree Thousand Three Hundred EightySeven Paise Nineteen Only	
-	Providing and fixing of Chain link fencing of	SM	49.96	668.29	33367 17	One Thousand	
92	standard mesh and standard bolts, steel primer of approved brand ect		91.70	236.93	21726.62359	Paise Sixty Two Only	
93	complete P/L 12-mm thick cement plaster in 1:4	SM	91.70		4123.310604	Rupees Four Thousand One Hundred TwentyThree Paise ThirtyOne Only Rupees Eighteen Thousand Six	
	Providing and laying of 1:2:4 mix coping with 20- mm nominal size aggregates	Cum	0.70	5890.44	4123.310004		
94	Providing and fixing of steel gate including	kg	200.00	93.06	18611.9508	NinetyFive Only Thousand Five	
95	carriage complete Painting to Gate and Fencing 50.58x2x1.83	Sqm	185,12	111.11	20568.43236	Fourty Three Only	
96	All excavating, digging by JCB,		97,20	321.62	31261.29876	Rupees ThirtyOne Thousand Two Hundred SixtyOne Paise Thirty Only	
97	carriage loading , unloading, laying, unwatering etc	Cum	37,25			Rupees Five Thousand Six Hundred FourtyEight Paise	
98	Carriage of materails By Mech.Transport, from source to site of work 'Sand and Stone agg. for	Cum	15,41	366.53	5648.172117	Seventeen Only Puppes Nine Hundred	
	an avg lead of 20 km Cement for an avg lead of 20 km	MT	3.03	325.85	986.3352487	EightySix Paise ThirtyFour Only	
99	Steel /Chain link from Div. Store Awantipora for	MT	2.44	325.85	795.0637618	Rupees Seven Hundred NinetyFive Paise Six Only Rupees Seven Hundred	
100	an avg lead of 20 km Stone soling for an avg. lead of 10 km	Cum	2.50	301.10	752.75082	Fifty Two Paise SeventyFive Only	
101	Earth work in excavation by manual means over areas exceeding 30 cms & upto 5 m in depth 1.5m in width as well as 10 sqm. On plan, disposal of excavated earth upto 1 m, disposed earth to be levelled & neatly dressed	Cum	30.54	397.24	12131 69738	Rupees Twelve Thousand One Hundred ThirtyOne Paise Seventy Only	
103	Providing & Laying of stone soling (dully hand packed)including watering dressing and ramming with all carriages loading un-loading and stacking etc complete	Cum	39.59	561.60	22233.82476	Rupees TwentyTwo Thousand Two Hundred ThirtyThree Paise EightyTwo Only	
104	Providing & laying in position cement concrete of specified grade excld. The cost of centring and shuttering all work upto plinth level(1:4:8) coarse sand 40mm nominal size crushed stone	Cum	13.62	4429.62	60331.45741	Rupees Sixty Thousand Three Hundred ThirtyOne Paise FourtySix Only	
	agg.) Dismetling of damaged RCC Slab to Chambers	Cum	3.46	2085.74	7216.645436	Rupees Seven Thousand Two Hundred Sixteen Paise SixtyFive Only	



6	cencre centri reinfo	position specified grade of cement ete (1:1.5:3) mix excld. the cost of ng, shuttering, finishing and precement-All work upto plinth level. With eags, 20mm nominal size	Cum		5,76	8571.7	76	49373	1	Three F	Fourtyfilms Thousand fundred SeventyThree se ThirtyTwo Only
07	Reinf	forcement of RCC work	Kgs	4	132.00	79.4	3	34313	.62954	Three	s ThirtyFour Thousand Hundred Thirteen Paiss StatyThres Only
108	cen shu wo	in position specified grade of cement crete (1:2:4) mix excld. the cost of centring, ttering, finishing and reinforecement-All rk upto plinth level. With stone agg. 20mm minal size	Cur	n	4.00	5890	0.44	2356	1.77488	Five	s TwentyThree Thousand Hundred SixtyOne Paisc SeventySeven Only
109	l ca	ling premises by earth incl. digging loading, irriage, spreading complete avg. lead 15 kms.	Cu	m	225.66	321	1.62	7257	76.38558	Rupe Five h	es SeventyTwo Thousand Hundred SeventySix Paise ThirtyNine Only
11	10	/L in position specified grade of cement encrete (1:3:6) mix excld. the cost of centring huttering, finishing and reinforecement-All work upto plinth level. With stone agg. 20mm nominal size	1 -	um	68.62	49:	19.05	337	7545.0135	1 7	es Three Lakh ThirtySeven Thousand Five Hundred ourtyFive Paise One Only
1	111	Centring and shuttering incld. Strutting, propiete & removal of form work for Founadtions, footings, bases of columns for mass concrete	1 !	Sqm	294.00) 2	38.98	70	260 56982	Hun	nees Seventy Thousand Two idred Sixty Paise Fifty Seven Only
	112	Centring and shuttering incld. Strutting, propert & removal of form work for Suspende	ing ed	Sqm	18.46	5 5	579.10	10	0690 0966	5 Hu	Rupees Ten Thousand Six indred Ninety Paise Ten Only upees SeventyTwo Thousand
	113	floors 12mm thick 1:4 Cement plaster		Sqm	305.0	00	236.93	3 7	2264.1242	28 T	wo Hundred SixtyFour Paise Twelve Only
	114	Carriage of materails By Mech.Transport, fr source to site of work Sand/Stone agg. for a avg lead of 20 km	om an	Cum	31.5	56	366.5	3	11567.573	1	Rupees Eleven Thousand Five Hundred SixtySeven Pause FiftySeven Only
	115	Cement for an avg lead of 20 km		MT	22.	66	325.8	85	7383 665	919	Rupees Seven Thousand Three Hundred Eight, Three Paisc Sixty Seven Only
	11	Stone soling for an avg. lead of 15 km		Cun	n 39	.59	301.	.10	11920 50		Rupees Eleven Thousand Nin Hundred Twenty Paise FiftyS Only
		Earth work in excavation by manual mear areas exceeding 30 cms & upto 5 m in dei 1.5m in width as well as 10 sqm. On plan, disposal of excavated earth upto 1 m, dis earth to be levelled & neatly dressed(all of soils)	posed	Cu	m 84	8.01	397	7,24	330863	1332	Rupees Three Lakh Thirty S Thousand Eight Hundred Sixti Three Paise Fifteen Or
		Earth work in excavation by mechanical over areas exceeding 30 cms & upto 5 m depth 1.5m in width as well as 10 sqm. (disposal of excavated earth upto 1 m, dearth to be levelled & neatly dressed (a of soils)	on plar Isposed), (aum 8	348.01	2:	29,64	19473	0.3323	Rupees One Lakh Ninety F Thousand Seven Hundre Thirty Nine Paise Thirty F Only



						Rupees Five Thousand For
	re-cost of	Ioints		1093.32	5466.6	Hundred SixtySix Paise Sup Only
	P/F flanged oints to G.I pipes including cost of flanges, nuts, bolts, washres, laying in position		5.00			Rupees TwentyTwo Thousand Seven Hundred SeventySeven
119	flanges, nuts, boits, west complete 100-mm \oplus G.I Pipe	Joints	25.00	911.10	22777.5	Paise Fifty Only Rupees Twenty Thousand Four
120	80-11111	Joints	25.00	819.99	20499.75	Hundred NinetyNine Faise SeventyFive Only Thousand Six
121	65-mm Φ G.I Pipe		200.00	98.13	19625.094	Hundred TwentyFive Fundamental Only
122	Laying and fitting of pipes excluding cost of pipes and earthwork 100-mm Φ G.I Pipe	Mtr	200.00		133111.71	Rupees One Lakh ThirtyThree Thousand One Hundred Eleven Paise SeventyOne Only
123	80-mm Φ G.I Pipe	Mtr	2000.00	66.56	1333	One Lakh ThirtyThree
	65-mm Φ G.I Pipe	Mtr	2000.00	66.56	133111.71	Paise SeventyOne Only
124	50-mm Φ G.I Pipe	Mtr	1500.00	37.17	55759.32	Rupees FiftyFive Thousand Seven Hundred FiftyNine Paise ThirtyTwo Only
126	40-mm Φ G.I Pipe	Mtr	1500.00	37.17	55759.32	Rupees FiftyFive Thousand Seven Hundred FiftyNine Paise ThirtyTwo Only
127	25-mm Φ G.I Pipe	Mtr	1500.00	27.93	41887.8225	Rupees FourtyOne Thousand Eight Hundred EightySeven Paise EightyTwo Only
128	20-mm Φ G.I Pipe	Mtr	1000.00	18.45	18449.775	Rupees Eighteen Thousand Four Hundred FourtyNine Paise SeventyEight Only
129	15-mm Φ G.I Pipe	Mtr	1164.00	18.45	21475.5381	Rupees TwentyOne Thousand Four Hundred SeventyFive Paise FiftyFour Only
130	Making connections of G.I distribution with G.I main including providing Tee, etc complete job 25 mm to 40-mm nominal bore	No	19.00	607.07	11534.25267	Rupees Eleven Thousand Five Hundred ThirtyFour Paise TwentyFive Only
131	50 mm to 80-mm nominal bore	No	20.00	1155.96	23119.1625	Rupees TwentyThree Thousand One Hundred Nineteen Paise Sixteen Only
132	Backfilling available excavated earth in trenches after laying of pipes	Cum	1526.41	181.04	276334.323	ThirtyFour Paise ThirtyTwo
133	P/F of pipe specials etc. 100 mm dia sluice valve	No.	1.00	10933.20	10933.2	Only Rupees Ten Thousand Nine Hundred ThirtyThree Paise
134	80 mm dia sluice valve	No.	10.00	9111.00	91110	Rupees NinetyOne Thousand One Hundred Ten Only
135	65 mm dia sluice valve	No,	3.00	8199.9	0 24599.7	Rupees TwentyFour Thousand Five Hundred NinetyNine Pais Seventy Only

H Cyp

136 o	arriage of material from departmental store y Mechanical Transport for upto dumping site f work for and avg. lead of 15 Km upto 100 mm ia. Pipe	MT	43.85	276.65	12130.94482	I-lu:	Twelve Thousand One Indred Thirty Paise NinetyFour Only
137	viring for light with 1.5sqm Pvc insulated nultistandard copper conductor single core able of Havels/polycab /alba/HPL make in surface /recessed medium class Pvc conduit with 6 Amp one way modular series switch with plate with box recessed in walls (exc.cost of conduit)	No	50.00	655.99	32799.6	Seven	es ThirtyTwo Thousand n Hundred NinetyNine Paise Sixty Only
138	Wiring for 16 Amp power socket point with 3x4 sq. mm(P+N+E) PVC insulated muti standard copper conductor single core cable of havels /polycab/Alba/HPLmake in surface/recessed conduct medium class PVC conduit with 6 Amp one way modular series swith with plate with box recessed with walls (exc.cost of conduit)	No	15.00	1548.87	23233.05	Rupee Two F	es TwentyThree Thousand Hundred ThirtyThree Paisc Five Only
139	Wiring for 6 Amp power socket point with 3x2.5 sq. mm(P+N+E) PVC insulated muti standard copper conductor single core cable of havels /polycab/Alba/HPL make in surface/recessed conduct medium class PVC conduit with 1x2.5sq.mmFRLS Pvc insulated multi standard coper conductor with modular series with switch plate boxes and two No 6 Amp five pin sockets(exc. cost of coduit)	No	15.00	1093.3	2 16399.8	Н	ees Sixteen Thousand Thr undred NinetyNine Paise Eighty Only
140	Supply and laying of Pvc Medium Grade condu to be laid on surface with all allied accures like bends ,tees etc 25/31mm Dia	Mtr	1500.00	0 45.5	6 68332.5		upees SixtyEight Thousar ree Hundred ThirtyTwo Pa Fifty Only
141	Supply, installation , testing and commissioning of 1200mm sweep heavy duty ceiling fans of crompton greaves/havels or its equivalent ma		5.00	3644	.40 18222	Ri	ipees Eighteen Thousand Hundred TwentyTwo On
143	Supply and fixing of 350Watt electronic fan dimmer of roma series of Anchor.	No	5.00	519	.33 2596.6	535	Rupees Two Thousand F Hundred NinetySix Pa SixtyFour Only
14	t havels of annrov	ed N	0 10.0	182	2.20 1822	22 F	Rupees Eighteen Thousan Hundred TwentyTwo (
144		N	10.0	00 136	1360	66.5	Rupees Thirteen Thousa Hundred SixtySix Pais Only
	40Amp		NO 10.	00 36	54.44 36-	44.4	Rupees Three Thousa Hundred FourtyFour Fourty Only

32Amp



					14577.6	Rupees Fourteen Thousand Hundred SeventySeven Pans Sixty Only
	P/F of head points in 3/20 Pvc indulated multistrand copper conductor of single core cable of havels/polycab /Alba/HPL make in cable of havels/polycab medium class PVC	No	20.00	728.88		rifteen Thousand Nine
146	surface /recessedconduit medium class PVC conduit	No	175.00	91.11	15944.25	Hundred Fourty our Faist TwentyFive Only
147	P/F of Service line P/fixing of 300mm Sq shutter type exaust fan of			2277.75	22777.5	Rupees TwentyTwo Thousand Seven Hundred SeventySeven Paise Fifty Only
148	p/fixing of 300mm 34 sheets make crompton ,greaves or Heavels make	No	10.00	227.11		66.387 lacs
	Total:-					

Rates & quantity checked by

Head Draftsman

5

The cost of work in no case exceed beyond Rs 66.387 lacs (Rupees sixty six lacs thirty eight thousand and seven

Bid decleration security @ 2% vide CDR No.3246782 Dated:-12.09.2022_ for an amount of Rs 1,46000/- are 1

being retained as security deposit shall be released only after successful completion of the work expiry of defective period.

Time of completion is essence of the contract. 3

The work shall have to be started by you at site immediately and ensure its successful completion within a period of 03 months from the date of issuance of allotment from this office strictly in accordance with the approved proposals

falling which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited. However date of start for laying and fitting of pipes will start within 07 days from the date of issuance of pipe material by the deptt.

An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of allotment failure to execute such a formal deed shall not however prevent the contract from being enforced upon you.

- The allotted works shall be subject to check by the third party monitoring agency appointed by the department.
- Payment shall be released as per actual / measured work done not less than 20% of the allotted cost on a monthly 7
- Performance security equivalent to 3% of the value of the contract shall have to be deposited by you in shape of 8 CDR/FDR/bank Guarantee within one week of issuance of allotment order and valid for a period of 3 months beyond the expiry of warranty period of the contract.
- The firm shall be bound for satisfactory performance of works for 18 months after the successful commissioning of the works. If during warranty period any malfunctioning / defects arise, you shall have to rectify same within a period of 10 days of receipt of intimation. In case of any failure on your part, the department may get the defects removed repaired by any other means and cost thereof shall be recovered from you and shall be recommended for further punitive action as governed under the relevant clause of the contract including black listing.
- 10 Pre & post Geo-tagged photographic evidence be taken during the execution of the work and shall have to be produced at the time of submission of the bill.

The quantity allotted shall have to be executed on ground strictly as per the estimates that have been framed in the DPR for the item of "Breast Wall/Retaining Wall, Chainlink Fencing, Transformer Bed/DG Set Bed, Sluice Chamber, Surface Drain/Approach Path and Earth Filling, Renovation of Operator Quarter including Raising of Bed of PST, Balance Work of Chain Link Fencing around existing OHT Premises, Surface Drain and Approach Path RCC Slab to CWS including filling Near Pressure Filter site, electrification to pump house and laying fitting".

12 All other terms and conditions shall be applicable as laid down in standard bid document and PWD from No. 25/33. 13

Any rules / terms and conditions if not stipulated in the bidding documents, shall be strictly dealt in accordance with the relevant rules / guidelines stipulated in General Financial Rules (GFR-2017) and manual for procurement of works 2019 G.O.I.



Executive Engineer

(JSD) PHE Division Awantipora

Copy to the:-Chief Engineer PHE Kashmir Jal Shakti Department, Kashmir Srinagar for information. 1)

- Superintending Engineer Hydraulic Circle Pulwama H.Q Shopian for information. 2)
- Assistant Executive Engineer Sub Division Awantipora for information necessary action. He will ensure the completion of work within the stipulated period strictly in accordance with approved 3) proposals within allotted amount shall in no case exceed the allotted amount.
 - Assistant Accounts Officer PHE Division Awantipora for information 4)
 - H/D Divisional Drawing Branch for information 5)
 - Office File 6)